3 in a line

d + 3 = 8
7 – d = 4
10 ÷ d = 5
4 + d = 5

d x 3 = 9
2 x d  = 12
 d ÷ 4 = 1
 d x d  =  4

d x 2 = 10
10 – d = 9
d – 3 = 3
d x d = 16

d - 2 = 4
d x d = 25


9 - d = 6
8 ÷ d  = 2

Rules

Take it in turns to throw the dice. Put a counter on a square to match your dice score. The first person to get 3 in a line is the winner.

3 in a line

4a – 11 = 9
5(4 - t) = 10
2 g = 8
2 m2= 18

8 – 2c = 2
 4 + k = 2

        5
 4 + d  = 2d
3e + 1 = d + 5 

2u – 1 = u
h2 = 9

       4
6( 9 - w) = 24
6z + 1 = 5z + 4

4y = y + 3
7– a = 0.5

       2
8 = 4(3y – 4)
3 (b – 1) = 6

Rules

Take it in turns to throw the dice. Put a counter on a square to match your dice score. The first person to get 3 in a line is the winner.

Three in a Line

d + 4 = 7


d x d = 1
6 + d = 7 
d ÷ 2 = 3

2 d  – 1 = d
d 2  = 25
d x 2 = 8
5 x (d – 2) = 5

d – 1 = 4
5 d = 10
d – 1 = 5
4 d = 24

3 (d – 1) = 9
3 + d = 8
5 – d = 4
10 – d = 6

2(d + 1) = 6
8 – d = 2
2 d = d + 3 
3 d = 15

Rules

Take it in turns to throw the dice. Put a counter on a square to match your dice score. The first person to get 3 in a line is the winner.

